Name:

Work Space:

Tee-Cream Parlor

The most popular treatf at the
ice-cream parlor is the double-scoop
cone. If a chocolate scoop on top of a
strawberry scoop is the same cone as
strawberry on top of chocolate, how
many different double-scoop cones
cah be made with six flavors of ice
cream? (Remember, someone could
have two scoops of one flavor of ice
cream.)

combinations

Name:

Work Space:

Iee-Cream Parlor

Doris’s bill at the ice-cream parior

comes to $2.54. She realizes that she

doesn’t have any dollar bills, so she

is paying with coins. She has 24 coins

including quarters, dimes, nickels, and

pennies. She has the same number

of nickels as quarters and twice as Answer:
many dimes as quarters. If she has

. . uarters
5 nickels, how many quarters, dimes, 4
and pennies does she have? ' —  dimes
pehnies
'mw iitledt
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